










Use the pirate dialogue 
guide to help you.







Introduction

Circle the incorrect multiplications below.

1 x 9 = 9

3 x 9 = 26

7 x 9 = 63

10 x 9 = 99

10 x 9 = 9

10 x 6 = 66

10 x 5 = 50

10 x 3 = 30

2 x 2 = 4

2 x 9 = 18

2 x 7 = 15

2 x 11 = 24



Varied Fluency 2

Fill in the grid to find the answer.

11 x 8 =   

x 10 1

8



Varied Fluency 3

Use >, < or = to make each statement correct. 

96 ÷ 12 88 ÷ 11

5 x 11 4 x 12

12 x 12 132 ÷ 11



Varied Fluency 4

Complete the missing numbers.

A. x 12 = 24

B. 11 x 9 =

C. 9 = ÷ 11

D. ÷ 12 = 2



Problem Solving 1

Write number sentences to describe five equal groups of the place 

value counters shown below.

x =

x =

÷ =

÷ =

10

1

10

10

10

10 1

1

1

1



Problem Solving 2

Rocco is hosting a dinner party. Part of his sea bass recipe is shown 

below.

How many artichokes and slices of ham will he need for 11 guests?

To serve one person, I need:

10 artichokes

2 handfuls of sun-dried tomatoes

2 slices of bread

3 finely chopped leeks

6 slices of Parma ham

1 large sea bass fillet








